Ques Working Answer | Mark Notes
4> 1.25(=5) or 3 M1  For a correct method to find
2% 2,90 (=5.8(0)) the total cost of the 4 cans of
cola or the 2 sandwiches
204 «1.25+2 9.2(0) M1 For fully correct method to
x 2.90) find the change
Al If no marks awarded. SCB1
For 15.85
Total 3 marks

Q2.
Question Working Answer Mark Notes
1506 (=25)or 6 *25=1500r 1.03 + 6 (=0.17...) M1
F257 % 1.03 or “0.17...7 % 150 M1 dep
25.75 3 Al
Qs.

For all questions, the correct answer, unless clearly obtained by an incorrect method, should
be taken to imply a correct method.

Working Answer | Mark Notes
(a) | 25 = 17.5(0) (=437.5(0)) or 3 M1
437 or 438
43757 =50 (=875 or M1 dep
50=9or50 =8
9 Al
(b) | “97 = 50 —"437.50” oe or 2 M1 for a complete method ;
50— (743757 - 400) oe only ft from an integer answer to
(a)
12.30 Al ft providing answer is positive.

Accept 12.5

Total 5 marks
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Work out 5-9

e s

(Total for Question 1 is 1 mark)

Work out -7+4

-3

(Total for Question 2 is 1 mark)

Work out -8-10

~ | &

(Total for Question 3 is 1 mark)

Work out -2 +-11

(Total for Question 4 is 1 mark)

Work out 7--9

/ 6

(Total for Question 5 is 1 mark)

Work out -5--12

V4

(Total for Question 6 is 1 mark)

Work out 548

2

(Total for Question 7 is 1 mark)

Work out 16 —-4

2.0

(Total for Question 8 is 1 mark)

_




Here are four numbers.
-5 -4 4 &5

Write one of these numbers in each box to make a correct calculation.

-5 + |4 = 9
3 E‘f@

(Total for Question 9 is 1 mark)

10

Here are four numbers.
-7 -2 2 7

Write one of these numbers in each box to make a correct calculation.

21 +1=7 = -5
o T+ @

(Total for Question 10 is 1 mark)

11

Here are four numbers.
-8 -2 2 8

Write one of these numbers in each box to make a correct calculation.

._B’ _
or E -

21 = -10

(Total for Question 11 is 1 mark)

12

Here are four numbers.
-9 3 3 9

Write one of these numbers in each box to make a correct calculation.

-5 = 12

(Total for Question 12 is 1 mark)

/
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13 ‘Work out 5%x-4
(Total for Question 13 is 1 mark)
14 Work out -7%x3
(Total for Question 14 is 1 mark)
15 Work out -2 X -6
] 2.
(Total for Question 15 is 1 mark)
16 Work out -4 x9
— 56
(Total for Question 16 is 1 mark)
17 Work out -32+4
— g
(Total for Question 17 is 1 mark)
18 Work out -25+5
(Total for Question 18 is 1 mark)
19 Work out -42 + -7
(Total for Question 19 is 1 mark)
20 Work out -2%x4x-9
— % x =9

12

(Total for Question 20 is 1 mark)

/
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21
4 | x|=3| =1-12
Write a number in the box to make a correct calculation.
(Total for Question 21 is 1 mark)
22
100 x| 2| = -20
Write a number in the box to make a correct calculation.
(Total for Question 22 is 1 mark)
23
-6 | x |— 9’ = 24
Write a number in the box to make a correct calculation.
(Total for Question 23 is 1 mark)
24
-2 x| 8| = -16
Write a number in the box to make a correct calculation.
(Total for Question 24 is 1 mark)
25
~18 < |-2] =109
Write a number in the box to make a correct calculation.
(Total for Question 25 is 1 mark)
26

27| +|-3| -

-9

Write a number in the box to make a correct calculation.

(Total for Question 26 is 1 mark)

J




27 Here is a number sequence.
11 |6 || 1|~y |-T i
Fill in the missing boxes to continue the sequence.
(Total for Question 27 is 2 marks)
28 Here is a number sequence.
20| |-12| | -4 g4 112
Fill in the missing boxes to continue the sequence.
(Total for Question 28 is 2 marks)
29 Here is a number sequence.
A1 |=7 18] 1|5
Fill in the missing boxes to complete the sequence.
(Total for Question 29 is 2 marks)
30 Here is a number sequence.

25 10| -5 -0

Fill in the missing boxes to complete the sequence.

(Total for Question 30 is 2 marks)

_
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31 The temperature in Glasgow one day was -4°C
The next day the temperature was 3°C lower.
Work out the new temperature.
—/
(Total for Question 31 is 1 mark)
32 The temperature in London at midnight was -3°C
By 11 am, the temperature had risen by 5°C.
Work out the temperature at 11 am.
2 e
(Total for Question 32 is 1 mark)
33 The temi)eramre in Leeming at midnight was -2°C
The temperature in Leeming at midday was 8°C
Work out the difference between the temperature in Leeming at midnight and midday.
) O ¢
(Total for Question 33 is 1 mark)
34 The table shows the temperature in four cities on a day in January.

London 3°C
New York -2°C
Tokyo 5°C
Oslo -4°C

(a) Write down the name of the city with the lowest temperature.

Ostlo

(1

(b) Work out the difference between the temperature in New York and the temperature in Tokyo.

~ y

(D

The next day the temperature in New York increased by 3 °C.
(c) Work out the new temperature in New York.

[ e
6y
(Total for Question 34 is 3 marks)

J
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35 The table shows the temperature at midnight and midday on January 2™ 2020 in four cities.

Mansk -9°C -6°C

Budapest -3°C 4°C
Paris 4°C 8°C
Prague -4°C 1°C

(a) Write down the name of the city with the lowest midnight temperature.

Mucmansk

(b) Which city had the greatest rise in temperature from midnight to midday?

(D

st

B wol 0{/}96

(c) Atmidnight, how many degrees colder was Murmansk than Paris?

/.3

M

°C

(Total for Question 35 is 3 marks)

(1)

36 The table shows the temperature at midnight on 1 December 2019 in cities.

Helsinki -6°C

Berlin 3°C
Utrecht -2°C
Rome 7°C

(a) Write down the name of the city with the lowest temperature.

Helsink

(b) Work out the difference between the temperature in Utrecht and Rome.

7

(D

°C

(Total for Question 36 is 2 marks)

(D

/




\

13 Write —5—36 as a percentage.
3 - 6
“em TimB
50 ¥
6
(Total for Question 13 is 1 mark)
14  Write 0.06 as a percentage.
0.06 X 10O
b o
(Total for Question 14 is 1 mark)
15 Write 0.11 as a fraction.
/[
/ 00
(Total for Question 15 is 1 mark)
16 Write 0.9 as a percentage.
C.9 x /00
70«
(Total for Question 16 is 1 mark)
17 Write 0.19 as a percentage.
O .19 X /oo
(7
(Total for Question 17 is 1 mark)
18 Write 0.025 as a fraction.

Q’S o R /é-v o R //____. g
) 00O O 200 4o L.
j OCQO

oY eqguaivaleant (Total for Question 18 is 1 mark)
V) }

/




19 Write 12 as a decimal.
100
2 — 10O
O- 12
(Total for Question 19 is 1 mark)
20 Write % as a decimal.
7 = 10
O.7
(Total for Question 20 is 1 mark)
21 Write 0.003 as a fraction.
3
1.O.C.O
(Total for Question 21 is 1 mark)
22 Write 0.3 as a percentage.
0.3 x100
A0 %
(Total for Question 23 is 1 mark)
.9
23 Write 20 as a percentage.
/ =
O 0 0
zo v
(Total for Question 23 is 1 mark)
24 Write 0.06 as a fraction.

4

—

/ OO
(Total for Question 24 is 1 mark)

/
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25 Dean says that 13% is greater than 0.1

Is Dean correct?
Give a reason for your answer.

VES ¢+ eimes 134 =013 20 0./3 > O./
or 0l =100 and 13 > 107

(Total for Question 25 is 1 mark)

26 Tom and Jerry both earn the same monthly salary.

Each month:
Tom saves 35% of his salary.

3 .
Jerry spends H of his salary and saves the rest of his salary.

Work out who saves the most money each month.
You must show your working.

D/{my Joyes % = %o 0/6

M Javes WNove WMoARL,

(Total for Question 26 is 2 marks)

27 Write the following numbers in order of size.
Start with the smallest number.

” 7 4
75A>v ) 0.72 0.9 3
6-75 0.7 0¥

7 | .
1o O J54 5 0.9
(Total for Question 27 is 2 marks)

28  Write the following numbers in order of size.
Start with the smallest number.

L o L 0205
03 3 2% :

20/, 373.37, 25,  29-5%

. /
0-205 7}/ }4 0.3 "=

(Total for Question 28 is 2 marks)

N _




Find 1 of 420

\

6
420 |
- = /0
6
YA
(Total for question 1 is 1 mark)
Find 1 of 44
4
LAY
L"l-
| |
(Total for questlon 2 is 1 mark)
e
Find 3 of 72
72 - 9
Pt
¥
(Total for questlon 3 is 1 mark)
o |
Find — of 60
5
O
é..-— = |2
5
........... ) B
(Total for questlon 4 is 1 mark)
|
Find 3 of 48
45 _

(Total for questmn 5 is 1 mark)
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6 Work out % of 180

t )
3 o ko = ¥& x5 = 133
[rs

.....................................

(Total for question 6 is 2 marks)

7 Work out —?— of 140

,—-é——ﬂ 0)» 1Y% O = """é”“ =~ 238
2 . iyo = 28 xZ 7 =%
s 26
(Total for question 7 is 2 marks)
.2 -
8 Find 3 of 240
240
} O)/ 240 = ?— = 80
Z o 240 = BOX 2= %0
s N 1.1 T
(Total for question 8 is 2 marks)
. i D
9 Find 3 of 72
(
— o} 72 < _—__7__2..— = 12
6
. of 72 = J2 xS = 4°
¢ T SR
(Total for question 9 is 2 marks)
10 Work out % of 56
/.,,— o) 56 = ,ié— = g
7 7
3 o}v 56 = g8x 3 = 2%
7 Bl

(Total for question 10 is 2 marks)

- /
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11 Holly is thinking of a number.

% of Holly’s number is 39.

Work out the number Holly is thinking of.

— OJV n = 3 q
t
_,,l’- o}, n = —-——-—'3 1 = /3
¢ g
n = /3 x4¢ = S2 2
(Total for question 11 is 2 marks)
2 . J A
12 3 of number n is 18. I OL n = 7 = 9
Find the value of n. 5
¢ 5
(Total for question 12 is 2 marks)
13 El of number is 30 /
6 —_— B L n = 5—9—— = é
Find the number. A b)
S ¢

_
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14 Work out the difference between 25 and 2 of 81
g/ =9 = 9
o 7[ g/ = 7

ﬁ
}70} 9/:/8

23 —1%

L a

(Total for questlon 14 is 3 marks)
; 3 2
15 Work out the difference between 3 of 32 and 3 of 40
I Z
3 op 32 —— °oF Yo
g S
22 -8 = 4 42 = g
S
([ — 12 = ¢ <7L
(Total for questlon 15 is 3 marks)
16

Work out the difference between 20% of 90 and % of 49

Jo/ of 9o \ ..lt-(j-

jox = 9 [90=1e7] 7
20, = 18 [‘7*27

21 —1V8 =

d
>(
W
\

)

2 = 2|
——:7"OV ‘_t_a'

s

(Total for questlon 16 is 3 marks)

J
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17 There are 924 people in a theatre.

383 of the people are men.
356 of the people are women.

% of the children are boys.

Work out how many girls are in the theatre.

37
3
. {185
3283
¢ - .
JE LA L1185 = 37
739 Adulls >
27 x 3= 11|
1}
A%y 3 of 185 =11
- 739 2
A
|85 C[/\l‘(/{/ en
............. R
(Total for question 17 is 3 marks)
18 The normal price of a computer game is £40
The price is reduced by % in a sale.
Work out the price of the computer game in the sale.
o
4o - 3
5
o -8 = 32

(Total for question 18 is 2 marks)




19 There are 1100 students at a school.
540 students are girls, the rest are boys.
1
10 of the girls are left handed.
1
T of the boys are left handed.
Work out the number of left handed students in the school.
ljwo — 5¢0 = 560 &‘360 60\55)
L op 540 = 2%2 = 5¢
/0 /&
L o 560 = S¢o = Z2¥o - /72 =70
& ¢ z
S¢ + 7o =/2¢ (24
(Total for question 19 is 3 marks)
20 Harry has 50 sweets.

He gives % of the sweets to Sandra.
He gives —1% of the sweets to Jamie.

Harry keeps the rest of the sweets for himself.
Work out how many sweets Harry keeps.

£ L o} 50 = 29 -s0
S 5
_gz- 01, 50 = /OXZ:'-—Z—_O_ H«@ 9:\&5 awdj
2o+15 = 35
/," of S0 = /5,9—5' 5
10 /0 50”_35 - |5
2 sf So T 3x5 =15
K
)

..................................

(Total for question 20 is 3 marks)

_/
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21 The normal price of a train ticket from Ashford to London is £34.20

Ross gets % off the price of his train ticket

Work out how much Ross pays for his ticket.

/ | 4o
< ob 3420 = 3% 2° SERTN
2
= 1l.qo

L
54 20

1140
L2¢%o0
£.2.2.0.8C ..
(Total for question 21 is 2 marks)
22 Stan has an income of £2000 a month.
| . 22ooo - Yoo
He spends % of hisincome onrent. 5~ ek 2o00 S 1
3 ——2—%—'0\' 2o T 2x 400 = SOD
He spends 20 of his income on bills. -
, -’;-E) XN Qoon = ’ZOOO = oo
He spends — of his income on food. . L0
R 10 '%o o 200 = looXx 2 F 3G06
Stan saves the rest of his income. -
| ) 2ooo -~
— o) Lo = | 2o
Work out how much Stan saves each month. o o) —
Steun spends SO0 + 200 + 300 = /300
Stan Saves - zowo — /300 = 70O

(Total for question 22 is 3 marks)

N , Y
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1 3
1 Work out EJFE
( 6
—_—
1O 1O
7
| O
(Total for question 1 is 2 marks)
2 1
2 kout =— =
(a) Work ou 377
¢tx 9 4 xS
Fx 3 Ty x5
3 -3
| 2 | 2

3 4
(b) Work out 1 X 9

Give your answer as a fraction in its simplest form.

2 =
36 3

l

——

<

@)
(Total for question 2 is 4 marks)

/
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3

Work out -3— X %

4
/15 - 5
24 3
5
3
(Total for question 3 is 2 marks)
4 (a) Work out 1 + El
5 4

px L 3 aS

¢x 5 7,\«5
4 L8
20 20

XU [ xS
— T -
x 5 3 x5
V)
IEREES

)7

20
2)

7
15
@

(Total for question 4 is 4 marks)

/
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Work out Z+~l—2-
(. /
L T
ST S
C7 e ,L s ,{& = i—
T2 12 12 ¢ |
5
é
(Total for question S is 2 marks)
(a) Work out g+%
5K X
Eoe 2T
5x ] 5 «]
2
20 + 27 = L'L/Z: OR- /?5
45 45 #
o &
)
s 4 (2)
(b) Work out 3 - —8—
Give your answer as a mixed number in its simplest form.
- - 8 -
O P P
5 3 5 5

(2)

(Total for question 6 is 4 marks)

_/




7 Work out %—%
R S
7 3 21

s
21

(Total for question 7 is 2 marks)

8 (a) Work out —2——%
Z S e
7c 6 7 «t
35 -6 = 21
w2 42 ¢z
Ay
T
@

1

3
(b) Work out lz X 15

Give your answer as a mixed number in its simplest form.

3 - 2 =3
;Zﬂx,// - e— & _ng’
y 2 7

5
2 5
2
(Total for question 8 is 4 marks)

- /




) \

2
9 | Work out 3 + 7
VES X
A 25
7x 5 7 x5
7
— | o _ o 75
3
39 E | 7
L.
35
(Total for question 9 is 2 marks)
37
10 (a) Work out 7710
9 3% _ T _*#
/
Sx 4 o
15 _ ¢
— e ——
20 20 2 {
2 0
1 _3 @
(b) Work out 2§ X 5
Give your answer as a mixed number in its simplest form.
' 7 2
LB = L= | =
& 5 2
/ 2
.
(2)

(Total for question 10 is 4 marks)

_ Y,
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11 Work out % - %
2 ¥k
Sx. 6 o x
_ 13
25 — 1z = 15
5o 30 30 13
3O
(Total for question 11 is 2 marks)
7.3
12 (a) Work out Fa
Give your answer as a mixed number in its simplest form.
/
7 /
3 A
r
4
@)
(b) Work out 1% > 4 -g—
2 - 22 _ (
6 7 > 27
//
LA .
VA
2)
(Total for question 12 is 4 marks)

o /
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3.3
13 Work out lg 7
.3
S =
5 Y
_ 37 =
Si/ yi - /IE e 75
o 3 LA
)
(Total for question 13 is 2 marks)
14 Work LA
(a) Work out 25 +17
X gl B >
x5 1 xe
: . [ 2.
Il ¢ X2 = LA =5
35 35 35 3
| 17
S35
1 .2 @
(b) Work out 1_6- +3
Give your answer as a mixed number in its simplest form.
7 =
‘ S
i [
A A = ; . / -n
2 45~ Z %L 7
/ -
2

e
(Total for question 14 is 4 marks)

/
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RO ok Y tens

(Total for question 1 is 1 mark)

Write down the value of the 8 in the number 583

Write down the value of the 5 in the number 583.2

600 or 5 hund,ed s
(Total for question 2 is 1 mark)

Write down the value of the 3 in the number 3091

3000 or 3 thowyands
(Total for question 3 is 1 mark)

Write down the value of the 2 in the number 6024

20 or D tens

(Total for quéstion 4 is 1 mark)

Write down the value of the 7 in the number 204.7

(0.7 or 7 teaths

(Total for question S is 1 mark)

Write down a 5 digit number that has 3 as its thousands digit.
You can only use the digit 3 once.

g 13500

(Total for question 6 is 1 mark)

Write down a 6 digit number that has 8 as its hundreds digit.
You can only use the digit 8 once.

e

e — — it et et

| 23 %00

(Total for question 7 is 1 mark)

_/




8 Write down a 4 digit number that has 7 as its tens digit.
You can only use the digit 7 once.
| O 70O
(Total for question 8 is 1 mark)
9 Write the number 2 million in figures.
2 000 000
(Total for question 9 is 1 mark)
10 Write the number 5.3 million in figures.
5 Soo0 000
(Total for question 10 is 1 mark)
11 Here are 4 number cards.
5 | 7 2 3
|
(a) Write down the largest three digit number that can be made using these number cards.
(b) Arrange the cards to give the smallest possible answer to the sum. M)
p————
2115 +(2]]7
(D
ok 3 5 and 27 (Total for question 11 is 2 marks)
12 Write the following numbers in order of size.
Start with the smallest number.
134 153 203 146
|34 146 193 15¢ 203
(Total for question 12 is 1 mark)

/
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Here are 4 number cards.

(a) Write down the smallest four digit number that can be made using these number cards.

3359

(b) Arrange the cards to give the largest possible answer to the sum. (1)

9|13+ |5 3

()

(Total for question 13 is 2 marks)

14

Write the following numbers in order of size.
Start with the smallest number.

0.35 — 0.305 _ 0.53 _- 0.053 0.035

O.035 0.053 $5.305 0.35 0.523

(Total for question 14 is 1 mark)

15

Write the following numbers in order of size.
Start with the smallest number.

1.06 1.5 1.53

b . 53 1.563
1/6' T — Pl —

[06 /. > /.53 /.563 /-6

(Total for question 15 is 1 mark)

16

Write the following numbers in order of size.
Start with the smallest number.

32 .- 327 . 3.72 3.702 3.02 .
/ / /‘ —

3. 072 3. 3.27 2. 702 %72
(Total for question 16 is 1 mark)

_
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1 Write 40 as a product of its prime factors.

40

@/ \2_ 2 x7%x7 %6
y

3
o 5
@ 4

G
O
@
?\)m)
x
N

(Total for question 1 is 2 marks)

2 Write 72 as a product of its prime factors.

72
@{‘gé 9 x2x2 x 3x3
~ 3 v
@/ N ok 2" x 3
# ™

9
oo B e AT

3 Write 98 as a product of its prime factors.

/75? 2‘x7"7
N 2
@ 479 e 2 K7
g @
2 x 7"

--------------------------------------------------------------------

(Total for question 3 is 2 marks)

4 Write 240 as a product of its prime factors.

240
Z X Ix)KIxZIXS xS
@ f2® o 2Tx3 x5

©, { D ....................................................................
@ 2 (Total for question 4 is 2 marks)

\_ ‘ _/




5 Find the highest common factor (HCF) of 60 and 114
€0 ;
@5 . 1%
30 /7 \
RN @ 57
@ s
: )
& B & @
g o /1<
HcF = 243 =4 s
(Total for questionb 5 is 3 marks)
6 Find the lowest common multiple (LCM) of 120 and 150

(20
7\

& e

7 N\

@30

~

15

& ®

120

/20 X 5
& o6

L Cm

)5 o
~
75
7\

G zs

XN

68 ©

/
@

--------------------------------------------------------------------

(Total for question 6 is 3 marks)

/
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7 Find the highest common factor (HCF) of 84 and 120

34 X
~N
@ 42 .
\
é 2! @/ e
/D 7N
@ @ @ =)

)X 24X 38

/7 /7

N

HCF

1)

8 Find the lowest common multiple (LCM) of 70 and 56

70 56
N
@/ \35 @ 7
/N {
& @ @ 7

70 5 ¢

{

JCm = TJ7o &k 2k2
= 280 ‘ 280

--------------------------------------------------------------------

(Total for question 8 is 3 marks)

- _/




9 Two buses, bus A and bus B, both use the same bus stop.
Bus A runs every 10 minutes. /10 = 2 X5
Bus B runs every 14 minutes. —
14 = 2 x 77

Both buses are at the bus stop at 11 am.

What time will both buses next both be at the bus stop.

alle) 8 (m)
Lem = 4 x5
= 70

70 M;ﬁ'zu«/éd o.v[#é.f //cxﬂ/L

(Total for question 9 is 3 marks)

10  Light A flashes every 8 seconds. 2= 2Lx2x2
- LightBflashesevery 20seconds. 5, = 2. x 2 x 5

Both lights flash at the same time.

Work out how long it will take for both lights to flash at the same time again.

A(t) &(20)

Jcm = 2Zex 2 = Yo

R it & S seconds
(Total for question 10 is 3 marks)

\_ | J
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11 648 =27 x 3* 540=2*x3"x5
(a) Write down the highest common factor (HCF) of 648 and 540.
' 5¢ O
68 2X2X3 x3 %3
- WX 2T
3
]O¥
(1)
(b) Find the lowest common multiple (LCM) of 648 and 540.
648 X 5
_ &
6420 = 3240
2 BEED
2)
(Total for question 11 is 3 marks)
12 A=0x3x5  B=2x3x7

(a) Write down the highest common factor (HCF) of A and B.

[

2x2 x3
i Lo
(1)
(b) Find the lowest common multiple (LCM) of A and B.
2 xk2x2 Xx3x3I XSS e« 77
g x 9 X 26 x7
72 X 175
1758
x7 2
TIe e 12690 ..
12 280 @
"zi00 (Total for question 12 is 3 marks)

/
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(a) Write 1.2 x 10 as an ordinary number.

20000
(b) Write 0.003 in standard form. (1)

-3
3»x 10
(1)
(Total for Question 1 is 2 marks)

(a) Write 42 900 000 in standard form.

7 ,
4. .29 x 10

(b) Write 3.61 x 10 as an ordinary number. M

0.co36/
(1)
(Total for Question 2 is 2 marks)

(a) Write 9.516 x 10° as an ordinary number.

75/6000
(b) Write 0.0724 in standard form. (1)
-2
714 x 10
(c) Calculate (8.694 x 10%)+ (6.21 x 10%) )
Give your answer in standard form.
Type in Cot cAadto
'y OO0 | -
.4 x 10

)
(Total for Question 3 is 4 marks)

/




(a) Write 5.12 x 107 as an ordinary number.

(b) Write 5 600 000 in standard form.

\

O. 00005/ 2
1)

4
5.6 x (O
(1
(Total for Question 4 is 2 marks)

(a) Write 0.0065 in standard form.

(b) Write 3 x 10* as an ordinary number.

-~ 3
(1)

30000
(1)
(Total for Question 5 is 2 marks)

(a) Write 3.08 x 10”° as an ordinary number.

(b) Write 5 million in standard form.

5 o000 ooo

(c) Calculate (6.3 x 10%) x (2.5 x 10%)
- Give your answer in standard form.

)5 750

. 0000 S0 F
(1)

6
5 x /|0
(1)

Y
). 575 %10
)
(Total for Question 6 is 4 marks)

J
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0.2/ x |0 x /O

7 Work out (8.69 x 107) + (5.5 x 107)
Give your answer in standard form.
o8 X /0
(Total for Question 7 is 2 marks)
8 (a) Write 0.00931 in standard form.
o 8
7.3/x/10
(b) Write 7.429 x 10° as an ordinary number. (1)
(M
(Total for Question 8 is 2 marks)
9 (a) Write 5.2 x 10" as an ordinary number.
(b) Work out the value of (3.2 x 10°) x (6.5 x 10% (1)
Give your answer in standard form.
20 8 00 o coo
8
2,08 x /0 |
)
(Total for Question 9 is 3 marks)
10 Write 0.21 x 10° in standard form.

5

2./x/0°

(Tbtailn for Q.ue'sAti"on' 10 is 1 métk) “

J
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11 Work out (6.7 x 10*) x (3.4 x 10®)
Give your answer as an ordinary number.
o= &
2.278x 10
0.o022768
(Total for Questlon 11 is 2 marks)
12 Workoyt 2:03%0.02 twithour o caleculetor
0.008 0 3
Give your answer in standard form. 3x 107 x 2x10
' gx 107
_fj_,'_‘.’.__s = 0.75x 10
- - R
s g~ 10 - 7.5 *x (O
7.5 x 107
(Total for Questlon 12is 3 marks)
9
13 Work out 3.744X10°
24%10°
Give your answer in standard form.
/5 €00
L
/. 56 * 10
(Total for Questlon 13 is2 marks)
14  Work out the value of (5 x 10%) x (6 x 107)
Give your answer in standard form. | ©
(.u\"h\,_um“’ corte - Box ‘ O
vi
3 x 10

3 x| O
(Total for Questlon 14 is 2 marks)

/
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15 (a) Write 0.000 054 376 in standard form.

(b) Write 4.15 x 10° as an ordinary number.

4.1x10° X 7.3%x10*

(c) Work out -
2X10

/. 4965 %10

\

-~ D

5.4376x 10
(M

4 150 000
(1)

4

(Total for Question 15 is 4 marks)

16  Write these numbers in order of size.
Start with the smallest number.

6.1 x10% 0.061 x 10? 6100 x 107 61
6/0 5./ O. 6/ 5/
7> z
Gloox/o  0.06/xl0 6/ &./x jo°

(Total for Questlon 16 is 2 marksl

17  Asphere has a radius of 6.4 x 10° metres.
Calculate the volume of this sphere.

Give your answer in standard form to 1 decimal place.

7 (&4 x10 )

o i ,. 4
Volume of sphere = gmﬁ

Surface area of sphere = 4zr*

21 3
//X/O 1]

7 (Total for Quesﬁon 17is 3 marks)

_/




18 A large rock has a weight of 1.2 x 10" grams.
Find, in standard form, the weight of 12 of these large rocks.
j 2 x10” x 2 ,
/.2 x 10 x -2x10

5
/- C,LQL ,X /O grams
(Total for Question 18 is 2 marks)

19 Write these numbers in order of size.
Start with the smallest number.

3.5 x 10 0.035 x 10° 350 x 107 35 x 10°
360 3500 g & 35
-z 0
3sox 10  35x/0 3 5*/0 o 055X’O

(Tota] for Questlon 19is 2 marks)

20  The diameter of Neptune is 5.0 x 10* km
The diameter of Mars is 6.8 x 10’ km

Calculate the difference between the diameter of Neptune and the diameter of Mars.
Give your answer in standard form.

5x/0 = Loo20
g5 %10 = £582°
So0000 — 6859° 7 #320°

7-

(Total for Questlon 20is 2 marks)

21 One electron has a mass of 9.1 x 10! grams.

Find the mass of 250 of electrons.

-2
9.1 x /0 Xx 250

~-2 8
2 ’275 x 10 _grams

(Total for Questlon 21 is 2 marks)

o /




22 The area of Australia is 7.7 x 10° km®
The area of Cyprus is 9.3 x 10° km’
How many times larger is Australia than Cyprus.
Give your answer to the nearest whole number.

7 7x10% 927954,

8L ¥

(Total for Question 22 is 2 marks)

23 The area of the Pacific Ocean is 3.61 x 10° km?
The area of the Atlantic Ocean is 8.51 x 10" km’
Find the total area of the Pacific Ocean and the Atlantic Ocean.
Give your answer in standard form.

%‘Gl,xlog —+ 3 .51 X o’

U4 é&| oo coco

.
.yl X /10 gy

(Total for Question 23 is 2 marks)

7€ 0006 00O

24 The distance between Earth and Mars is 78 million kilometres. D
The speed of light is 3 x 10° km/s e 'l

Calculate the time, in seconds, it takes for light to travel from Earth to Mars.
Give your answer in standard form.

. _ ——_—7300_0——@9;\9—— - 7 %% - 2 ¢o
Tim e 2
3 b0
= 260
= 2.6 x 10* 2.6 X 10" s

(Total for Question 24 is 2 marks)

- | | /
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1 Work out an estimate for the value of f8_71_>i§£
1.3
o x 60O 30 0 O
5 _ 3 . 300
/ O )
300 .
(Total for Question 1 is 3 marks)
2 Work out an estimate for the value of 41.2 X19.8
0.49
0.5 0.5
............ [600 .
(Total for Question 2 is 3 marks)
3 Work out an estimate for the value of &43%@
5.
X 20
30 ¥ 20 - €e° . oo
4 §
................ [.CO. ...
(Total for Question 3 is 3 marks)

\_ Y,




~

4  Work out an estimate for the value of 14_*'23’_02
- 0.196
o -2 o 2
ok 7+ 20 - 27 _ 135 :7 ............... }50 ..................
o.2 6. 2 (Total for Question 4 is 3 marks)
5  Work out an estimate for the value of w
2.31
ox 5 _ 450 _
Tox 5 = = 225
2 -
............. LS,
(Total for Question 5 is 3 marks)
6  Work out an estimate for the value of 1:8_3__4-_&2_8
0.13
20 + 6 ¥ 0
© = Eon ¥ O O
o . | o -/
O 0

............................................

(Total for Question 6 is 3 marks)

/




/

7  Work out an estimate for the value of Mg—l%f— y98.1
So
20 + [1eo _ FeHI0 . 22 _ se
A7 .=
0.2 0% e >
e 2.8,
(Total for Question 7 is 3 marks)
8  Work out an estimate for the value of %
X 20 /60 _
8 x20 o /60 = 350
0.5 0.5
............ SZ0 i
(Total for Question 8 is 3 marks)
. 431.1
9 Eddie and Ellen use a calculator to work out ————
143 + 3.8
Eddie’s answer is 1.5
Ellen’s answer is 15 , @ o—cﬂ
40 O o R . 2
One of those answers is correct. 7 10+ ¢
_ /%L + Z/—
Use approximations to find out which answer is correct.
4o  _ YoZ
it =8
Jy+14 3
/
Z{//@VL S answr is  Covrect. =1/5%.3
(Total for Question 9 is 3 marks)

/
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10 Ciara drives an average of 43.6 miles per week 5] weels i~

(a) Work out an estimate for the number of miles Ciara drives in a year. ~ °* ' pnaid

4o x 50 = 2029

................................

(b) Is your answer to part (a) an underestimate or an overestimate?
Give a reason for your answer.

.....................................................................................................................................................

(Total for Question 10 is 3 marks)

1 Dennis gets paid £8.21 per hour he works.
Each week Dennis works 41 hours.

%o
(a) Work out an estimate for the amount Dennis gets paid in a week.

X x 4b0 = BZ320

(b) Is your answer to part (a) an underestimate or an overestimate?
Give a reason for your answer. -

............................................................................

(1)
(Total for Question 11 is 3 marks)

\_ /
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Mr Sykes wants to buy a calculator for every student in year 11.
There are 104 students in year 11. 100
Each calculator costs £6.05

' A

(a) Work out an estimate for the amount of money Mr Sykes will spend on calculators.

Joo x €

.................................

(b) Is your answer to part (a) an underestimate or an overestimate?
Give a reason for your answer.

...................................................................................................................................................................

.....................................................................................................................

(Total for Question 12 is 3 marks)

13

Phoebe's pays 2.8 pence per minute to use her phone.
On average Phoebe uses her phone for 77 minutes per day.

: g O
She pays he phone bill for 29 days.

>0

(a) Work out an estimate for how much Phoebe pays.
2 X 8O0 ¥ s O
goXx 90

72 00 %

; ; 3
(b) Is your answer to part (a) an underestimate or an overestimate? 3)
Give a reason for your answer.

............ Overestmede = 1 rodnded. odd e imimben..

(Total for Question 13 is 4 marks)

. | /




) O | | \
1K4 A circle has a radius of 11 metres. |

(a) Work out an estimate for the area of the circle.

Area = g7 r "

7
= 3 X | O
T 3 x /o o
= 500
300 .......... m’
o 363 0)

(b) Is your answer to part (a) an underestimate or an overestimate?
Give a reason for your answer.

R T T

......................................................................................................................................................................

(Total for Question 14 is 4 marks)

15 A shape is formed by cutting a square out of a rectangle.

323m |

512m

(a) Work out an estimate for the area of the shape.
2
Seodd sbope 2 x 2 = ¢

- = 1]
e = \\ .............. m’
)
(b) Is your answer to part (a) an underestimate or an overestimate?
Give a reason for your answer.
....... Wrzdfres%wa/@*ﬂw—fogskwﬁzﬁ/z//”wf“
........ ok ot o TR el Shape.. sl hove A .
S %—e o &
#a. e e (Total for Question 15 is 4 marks)




o A

16 A baby was born every 43 seconds in the UK in 2018

% Work out an estimate for the total number of babies born in the UK in 2018.
You must show how you get your answer.

Nuwmiotr of S€comey i o oo

Y% 0

MNum b o} WUW/J /7 a j,e.w: Lo x 6o x 2 345

~ GO o x 6o x 20 x 4+ o O
26 oo X ¢ oe o

f\,ccf‘ooo X g o o o

22 coo ©o o

22 coo eo@
32 coo 2o
&G &

gya o 0 O

S ———

................................................

(Total for Question 16 is 4 marks)

[éaa_&oo o Goo0 oOol

g Y




Simplify 3x+4x—2x
Tx - 22

- (Total for question 1 is 1 mark)

\

4 g6

Simplify 3m+3m

6m

(Total for question 2 is 1 mark)

Simplify ntntn

Sn

(Total for question 3 is 1 mark)

(a) Simplify a x b x ¢

(b) Simplify 5p—2p

() Simplify _63_h

abc
B

3p
W

2/
(H
(Total for question 4 is 3 marks)

_




Simplify ~ k+k+8

2k + 9

(Total for question 5 is 1 mark)

(a) Simplify 4 x 3x

(b) Simplify 7a—3a+ 6a

ba +{a

[ x

(h

/ O

(1)
(Total for question 6 is 2 marks)

Simplify {Eg} 6;@% )

59 +T7h

(Total for quest%n 7 is 2 marks)

(a) Simplify 3 x b x 9

(b) Simplifyl 2x}- 3y~ 6x)— 4y

L 7b
(0
“‘Lf:lf; '7&1
@

(Total for question 8 is 3 marks)

/




Simplify @+ 3dC 9+ 2d

(b) Simplify 2p x 2p

(c) Simplify 7XZ Sx

9
7¢ + 5ol

(Total for question 9 is 2 marks)

10 (a) Simplify f+f+f+f+f

. , 7 :
(b) Simplify(5a+ 35@9 +2b M
Too + 5b
2)

(Total for question 10 is 3 marks)

11 (a) Simplify 2a x 3b

6 ab

(1

2

$p

A

2

(L
(Total for question 11 is 3 marks)

/




- B

12 Simplify  (11g-8df 5c)-d

/6c = Tl

(Total for question 12 is 2 marks)

13 (a) Simplify 3a x 4b

[ ) ok
L . ; (D
(b) Simplify( 33+ 2y(+ 63~
T + Y
2)

(Total for question 13 is 3 marks)

14 (a) Simplify a x b x 3

Sab
(b) Simplify y x y x y 0
3
Yy
(c) Simplify _IQdi T
/O
(D

(Total for question 14 is 3 marks)

. /




15 (a) Simplify a x 2 x5
[
(H
(b) Simplify b x b
é 2
() Simplify 26y (1)
2 % 9
2
-
(D
(Total for question 15 is 3 marks)
16 () Simplify 2t x 7s
IG4se
' 1
(b) Simplify( 79+ 46 3a)- 56 s
Yo — b
2)
(Total for question 16 is 3 marks)
17 (a) Simplify 6f — f

(b) Simplif@— 3xlt 352k 6x

2 f

()

[0z +3x

(2)
(Total for question 17 is 3 marks)

/




4 N

18 Simplify 2XnX6xXm

[2mn
| Lonr

(Total for question 18 is 1 mark)

19 (a) Simplify 67 x 5k

20k

(b) simplify(79- 6b(; 50+ 4b ()
|26 = 1)

@)

(Total for question 19 is 3 marks)

20 (a) Simplify 4n—3n+5n
nt+ on

bn

)

(b) Simplify p’+p’ + p?

'2_

Spo
(c) Simplify 5+ Tb( 6a)+ b NG

5o+ 8b

(2)
(Total for question 20 is 4 marks)




/

21 (a) Simplify &’ +a’ +d’

(b) Simplify 2rs — Srs +4rs
= 3rs +Yrs

(o) Simplify 4a(+2)-7a+al6)

3o

(1

(.S
(D

-la —Y
| )
(Total for question 21 is 4 marks)

22 (a) Simplify n+n+n-n
3 —n

(b) Simplify 3xy + 2xy —xy

hay - =y

() Simplify(4a)+ 36 a)+ 3 + 6

L

(1)

Fxy

)

Qe +6b + €

@)
(Total for question 22 is 4 marks)




—

1 =7
g=>
Work out the value of 3f+2g
5(7) + 2(5)
21 + 10
2
(Total for Question 1 is 2 marks)
2 c=4d -1
Find the value of ¢ when d =6
c= up(6) — 7
= ;Z_ L(— — 7
= {7/
(Total for Question 2 is 2 marks)
3 v=u+at
v = 234+ 10(6)
u=3
a=10 = 3 + O
t=6
=63
Work out the value of v.
- 63
(Total for Question 3 is 2 marks)
4 x=4
y=6
2(4) - 6
Work out the value of 3x—y
2 — 6
(Total for Question 4 is 2 marks)

/




5 L=9m+2n

Work out the value of L whenm =3 andn=-6
L= 9(3) +a(-6)
= 17 -2

(Total for Question 5 is 2 marks)

7=5(6) +3(-%)
p=6

= 30 ~12

= /g

Work out the value of g.

_________ /& ,.

(Total for Question 6 is 2 markéi B

7 H=4f+g

Work out the value of A when f=5and g=-2

#=4(5) —2

= 20 — 2
= J 3
[ &
(Total for Question 7 is 2 marks)
8 A=4p+5¢q '

pest 4= 9&(3)%5(—2)
q=-2 |

= (2 - /0
Work out the value of 4.

= 2

VA




9 L=9m+2n

Work out the value of L whenm=-3 andn =4

[ = 9(-3) t2(%)

= -27 + ¥
= T /7
(Total for Question 9 is 2 marks)
10 q=6p—r
- 3= 0%}~ 5
Work out the value of g. = =24 =5
= =27

(Total for Question 10 is 2 marks)

11 H=f-2g

Work out the value of H when f= 12 and g =—6

H: /2—2('4]

24 .
(Total for Questio{l 11 is 2 marks)
12 A=5p+6q
p=10 _ 4+ 6 (-2
Work out the value of 4. = o — /2
= S
k (Total for Question 12 is 2 ma@




4 * )
13 L=m(n-2)

Work out the value of L whenm=9andn=>5
L= 9(5 -2)

7(%)

27

i

0\

LY/

(Total for Question 13 is 2 marks)

14 a=5bc

b=-4
c=-3

a=5(-4)(-3)
= ——20(-—3)
£ o

‘Work out the value of a.

[l

6 O

(Total for Question 14 is 2 marks)

15 x=47-12

Work out the value of x when y =15

x =4 (5)° — (2

= y(25)-12
= [/ 0 © /2
- w3 3.8
(Total for Question 15 is 2 marks)
16 A=p-2q
p=-4 A= -4 —2(-7)
g=-7
- - )
Work out the value of 4. - ® + v
= [0

| O
\ (Total for Question 16 is 2 marks)




17 a=18
b=-5
c=2 A
2 (=5) ~4(3)(2)
Work out the value of b°—4ac
26 — 32(2)
26 —6Y
(Total for Question 17 is 2 marks)

18 d=22
v

Work out the value of d when m =32 and v=2_§

. 3% =
A= ===/
8
(Total for Question 18 is 2 marks)
19 A=2j-jk
Work out the value of 4 whenj=7and k=3
Ao 2(7 ) -7 (3)
< 14 = 2
(Total for Question 19 is 2 marks)
20 w=5x"+3 Ny
—_ '/’
x=-—3 W = 5 ( 3) 3
Work out the value of w. = 5 ( 7 ) + 3
= 45 £3
= 7, ?
(Total for Question 20 is 2 marks)

/




-

|
21 =
A > bh

Work out the value of 4 when b=3 and h= 8

—(3)(%)

%;(2%)

(

A

(1

= (L

oz

(Total for Question 21 is 2 marks)

22 A=%(a+b)h

Work out the value of A whena=7,b=6 and 2= 10
( "
T (7+¢)(10)

= (r3)(r6)

= 3 (130) = 65

\)

A

\

£S5

(Total for Question 22 is 2 marks)

23 v=u+at

Work out the value of vwhenu=12,a=-6and =5

vy = (2 + ("()(5)

= /2 — 30
= - /8
. — 18 -
(Total for Question 23 is 2 marks)
24 y=mx+c
= -2 IZ)+(”7)
m=-2 y
x=12
c=-7 . th - 7
Work out the value of y. = - 31

— 3
(Total for Question 24 is 2 marks)

/




25 s:ut%lat2
2
u=3 yA
a2 s=3(4) +4(2)(¥)
Work out the value of s. =12 + /7/,‘ (L)(/(/
= 2 + /6
= Z 1%
- 28
(Total for Question 25 is 2 marks)
1 :
26 s=ut+§at , | z
5 5:(——5)(3)7&/&—(%)(3)
a=4 .. ;
£=3 = - /5 +/Z-(‘v‘)(7)
Work out the value of s. . _ s o+ 2 (‘7)
- ~ 15 A4 /&
= 3
s= .3 |
(Total for Question 26 is 2 marks)
v’ 2 T
27 ST T4 5 = [7) '—‘(5)
=17
ne5 2(3)
a=3
_ )
Work out the value of s. - L_f_z_,_———-———
4
- 2¢
s
é,

(Total for Question 27 is 2 marks)
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1 nisan integer such that —2<n<3
Write down all the possible values of 7.

~

..... ”Q’/—’/ /l/;z—

(Total for question 1 is 2 marks)

O

2 (a) On the number line, show the inequality x> -3

1 < y<5 where y is an integer.

(b) Write down all the possible values of y.

(c) Solve 4t+7 < 19

~7 - 7
Le <12
L<3

2)
..... @L,%%M@
e ELSD
2)

(Total for question 2 is 6 marks)

3 Write down the inequality shown on the number line.

.........................................................

)




4 )

4 (@) -1 <n< 3 where # is an integer.

(b) Write down all the possible values of 7.

2
(c) Solve 2x-5 > 8 <
#s *5
2o > 13
x > 2
’ 13
RRL S0 0
2

(Total for question 4 is 4 marks)

5 (a) On the number line, show the inequality -2 <x <4

O O
T T T T T T T T T T I
=5 -4 -3 2 -1 0 1 2 3 4 5 X
(2)
(b) Write down the inequality shown on the number line.
@ B
| | | | | } § | | | | ’
-5 -4 -3 2 -1 0 1 2 3 4 5 %
x 2 -2
2)

(Total for question 5 is 4 marks)




f

6

(a) On the number line, show the inequality n <2.

v

4 < y<8 where y is an integer.

(b) Write down all the possible values of y.

(c) Solve 4x+6 < x+21
- -

3z + 6 £ 11|
- ¢ .

3x < I5

x £ 5

@)

3)

(Total for question 6 is 7 marks)

7 Solve 4x < x+6

Show your answer on the number line.

(Total for question 7 is 3 marks)

/




/

8  Write down the inequality shown on the number line.

(Total for question 8 is 2 marks)

9 (a) Onthe number line, show the inequality x+ 1 <4
x$3

P
N

5< 2y<12 wherey is an integer.

(b) Write down all the possible values of y.

2.5<y <6

(c) Solve 4 >19-3x
+3x +3x

Sx + 4 2 19

@

..........................................................

@)
(Total for question 9 is 6 marks)

10 7 is an integer such that -8 <3n <10
Write down all the possible values of 7.

(Total for question 10 is 2 marks)

J




/

11

Write down the inequality shown on the number line.

(Total for question 11 is 2 marks)

12

(a) On the number line, show the inequality -4<n< 5

| | | ! | | | | 1 I >
S04 03 20 10 1 2 3 4 s 7
)
(b) Write down the inequality shown on the number line.
| 1 | >

2
(Total for question 12 is 4 marks)

13

Solve 2(3n-5)>12

> & +10
tn > 22
noo> &
/
n o> L
3

..........................................................

(Total for question 13 is 2 marks)




4 N

14  nis an integer such that -3 <2n<6
Write down all the possible values of n.

'I/O/// ..... 2 .................

(Total for question 14 is 2 marks)

15 Solve 3(n+1)<24

y -3
in < 21
n < 7/

..........................................................

(Total for question 15 is 2 marks)

16 Solve 4(2x+1)>9

Y2 +y > 1
¢x > 5

-4
x)?

(Total for question 16 is 2 marks)




17 (a) On the number line, show the inequality -3 <x+2<2

-5< x< 0

®)

1 < 2y—-3<9 wherey is an integer.
Y243 973
(b) Write down all the possible values of y.

b < 29 <12

2$j<é

............... /3/%/5

3
(c) Solve 4x—-4 < 7x-19 ®)

.4111- —Yx

-4 £ 3x ~ 11
19 +19

..........................................................

(Total for question 17 is 9 marks)

N /
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] ©
j /0
2 5

(b) Solve ¥*~7x+10=0

1 (a) Factorise a’+3a-28
25
/ 2 &
2 )4
4 7
(a+7)(a —z)
(b) Solve a*+3a-28=0 2
aA-=7 or a =Y
(1)
(Total for Question 1 is 3 marks)
2 (a) Factorise x*—7x+ 10

[z ~2)(Jc-(§)

2/:,,2, ovr X =5

(n
(Total for Question 2 is 3 marks)




(

/| &
/| 1¢
2 9
3 6

(b) Solve x*—3x—-18=0

3 (a) Factorise b*+9b+20
20
/! 20
2 /0
4 5
(b +4)(b+5)
(b) Solve H*+9b+20=0 (2)
b= - ‘7‘ oY lo z-5
(1)
(Total for Question 3 is 3 marks)
4 (a) Factorise x*—3x—18

(zr3)(z -¢)
@)

2=-3 or x =6

0y
(Total for Question 4 is 3 marks)




4 N

5 (a) Factorise y*—10y+9

q
A
3 3
(4=t )y =17)
(b) Solve 3*—10y+9=0 2)
Y=l or 4= 7
1)
(Total for Question 5 is 3 marks)
6 (a) Factorise a*—a—56
56
/ 56
2 2 8
¢4 11
7 g

(a+7)(a-3)

(b) Solve &*—~a—-56=0 2)

a:"7 v A = X

(1
(Total for Question 6 is 3 marks)




/

Solve x*+ 14x+24=0

7
L4
/ 24
2 2 (x+2)(x+42) =0
¥
5 xX=-2 x =-(2
y A
A== or A= =/2
(Total for Question 7 is 3 marks)
8 Solve x*+5x-6=0
‘ [x =1)(x+6) =0
/
2 = | o = — 6
x=/ o X=—4
(Total for Question 8 is 3 marks)
9 Solve x*+5x+6=0

(x+2)(x +3) =°

L= = 2 He F o=

.X:‘—Z or _X.:—-j

(Total for Question 9 is 3 marks)

/




4 N

10 Solve X—-12x+32=0

32

] 5t \

2 16 (z —4)(oc ~%)=0
§ | |

Lf/ Z:(f )(/;X

X = o 235

(Total for 'Question 10 is 3 marks)

11 Solve xX*+19x+90=0

70
/ 70 o
2 vs (% +9)(x+00) =
3 30 x= =9 X = —/0
5 /¥
6 )
9 ] O

X == or X==/0O

(Total for Question 11 is 3 marks)

12 Solve xX*+ 11x—42=0

/4/21/2 [z -3)(x +/¢) = 0O
2 2/ X - 3 yc:—’/%

3 77

6 7

X =8 or X=-—/ L
(Total for Question 12 is 3 marks)

/




f

13 Solve a’—10a+16=0

/6

a2 oy a-= X
(Total for Question 13 is 3 marks)

14 Solve 3*-2y-35=0

36
/ 35

5 /

(9+5)ly-7) =0
(&j:’f j:7

(4:—5 or (L/ :7

(Tot:l for Question 14 l\S/ 3 ma;'ks)

15 Solve x*+3x-54=0

54
/ 54
2 27
3 /F
6 7

(2 +9) (x —6) =0

1/3’7 Df/;é

X = — 7 or X =& é
(Total for Question 15 is 3 marks)

/ _




. A

16 Solve b*—10b-24=0

24 . .
| 2¢ (b+2)(b-12) =0
s s b>-2 b=i2
A

é: -2 or b=/2

(Total for Question 16 is 3 marks)

17 Solve m*+ 13m+40=0

L O
. (mt5)(m+¥) =0
& /O M= -5 /‘43‘/8
5 ¥

m = ’5 or m=—1F§
(Total for Question 17 is 3 marks)

18 Solve x*+10x—24=0

2 (2 +/12)(n-2) =0
/ LY e o
2 2 )“’//2 x =2
3 g
Y &

x-z =17 or X = 7
(Total for Question 18 is 3 marks)

\_ /




Here is the graph of y=x*—2x—3
y
x .8
|
\ - [
6
|
\ |
\
b "
A
I
\
i\
2 f
\
I
\
’ o
-6 = -2 \-+-0 pAREEY 4 6
\
2 -
/
\ A
4] B
-6
(a) Write down the turning point of the graph y = x—2x-3
T T )
(1
(b) Use the graph to find the roots of the equation X -2x-3=0
......... ~land 3 ..
@)
(Total for question 1 is 3 marks)

/




Here is the graph of y=2x+ 6 —x’

N

o~

i
L

—ch
—

<=V

o

—

o

(a) Write down the turning point of the graph y=2x+6 —x

(b) Use the graph to find the roots of the equation x*= 2x + 6

...........................................................

~ )
(Total for question 2 is 3 marks)

accept —1.6 7‘;”%‘54
2.5 :




Here is the graph of y=x"+2x—5

——

I

L

——

o

S

o

L

Pt

———
—

=V

st

(a) Write down the turning point of the graph y =x"+2x -5

(Total for question 3 is 3 marks)

/
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Complete the table of values for y=x>+x—6

-2

4

@)

=

!

N

S

N

BN

(a) On the grid draw the graph of y=x>+x—6 for values of x from —3 to 3 (2)

(b) Use the graph to find estimates of the solutions to the equation x*+x —6 =2

...........................................................

)
(Total for question 4 is 6 marks)

-2 .6 ‘o — 2.5 _
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1 Here are the first five terms of a sequence.
2 ' 4 7 11 16
“+2 3 + ¢ + 5
Write down the next two terms in the sequence.
6+ & = 22
22+7 = 29 22
(Total for Question 1 is 2 marks)
2 The first term in a sequence is 3.
The term to term rule is add 5. 3 % /3 /| & 2 3 ...
Is 97 a term in the sequence?
Give a reason for your answer.
/\/(9/ ........................ Clrnmad. e The... SEQUR L E2
L S Y o
(Total for Question 2 is 2 mark)
3 Here are the first five terms of a Fibonacci sequence
1 2 3 5 8
Write down the next two terms in the sequence.
5+ 8 = /3
g + / 3 = 2' / .......... / 3 ................ Q’/ .........
(Total for Question 3 is 2 marks)
4 The nth term of a sequence is 4n + 3
gy (1) +3 =7
(a) Find the first two terms of this sequence. : ~
gl2) +3 = I
S N
(b) Is 35 a term in this sequence.
You must show how you get your answer. GL n —+3 = 25
[/,n c 'g 2
N nw = 8
........ 55/55f5*“€32‘€/%/nﬁ&
eI B M Ballle Gl
(Total for Question 4 is 2 marks)

-
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The nth term of a sequence is n” + 1

(a) Find the first two terms of this sequence.

......................... 1
(b) Is 35 a term in this sequence. 2 = ¢5 )
You must show how you get your answer. no+ 1 =5
n* = 3¢
a o= 3¢ [nol' & wihale Mj
l\)CD/ ............ 508 . .net.  ane. mert. thad.. GG sart...
....... T L O SO U ST NSRS
)

(Total for Question 5 is 2 marks)

6

7

Here are the first 5 terms of a sequence.

17 14 11

(2) Find the next term of this sequence.

The nth term of a different sequence is 10n> + 5

(b) Work out the 5™ term of this sequence.

8 5
........................ P
(D
16(5)"+ 5
10(2s)t 5
250 t 5 .
................ 2O
ey

(Total for Question 6 is 2 marks)

Here are the first four terms of a sequence.

7 »13 19

(a) Write down the next term in the sequence.

(b) Explain how you got your answer

.........................................................................

25

..................................................

(Total for Question 7 is 2 marks)

/




8 Here are the first four terms of a number sequence.

2 3 5 9

The rule to continue the sequence is
multiply the previous term by 2 and then subtract 1

Work out the 5" term of this sequence.

{

Tx 2 /¢
)8 -1 =17

(Total for Question 8 is 1 mark)

9 Here are the first 5 terms of a Fibonacci sequence.

2 2 4 6 10
Find the 8th term of this sequence.

£ 4+ 10 = S
o + 16 = 26
6 + 26 = 472
.................. Y
(Total for Question 9 is 2 marks)
z
10 The nth term of a sequence is n?+ 3 () + 3 = ¢
L — &
(a) Find the first three terms of this sequence. (7’) =3 = 7

(b) Find the 10" term in this sequence. @
2
(1) * 3
joo + 3
- I —
(1)

(Total for Question 10 is 3 marks)

- _
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11 Here is a sequence of patterns made from white tiles and grey tiles.

pattern number 1 pattern number 2 pattern number 3

(a) In the space below, draw pattern number 4.

(1)

(b) Work out the total number of tiles to make pattern number 7.

¥ 7 o 13 14 19 22

................ ol i

@
Kyle says
“There are 4 white tiles in pattern number 3 so there will be 8 white tiles in pattern number 6.”

(c) Is Kyle right?
You must give a reason for your answer.

No.  There w:/l be /7 wh be tiles /'n,} o ern £

...................................................................................................................... P R A e e R R R

....................................................................................................................................................................

(Total for Question 11 is 4 marks)
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12 Here is a sequence of patterns made from grey counters.

@ @ o
o000 00
@ &

Za

pattern number 1 pattern number 2 pattern number 3

/3

(a) In the space below, draw pattern number 4.

(] @ & &
2 & 0000 © 2 @

@ & & &

1
(b) Work out the total number of counters to make pattern number 10. 2
5 7 /3 17
¢ & g /2 /€
bn +1 Z7L /
o) + = / .................................................
400)+ 1 = ¢ .

(Total for Question 12 is 3 marks)

13 Here are the first five terms of a sequence.

31 27 23 19 15

- () Find the first negative term in the sequence.

H 73 =

..................................................

(b) Is =30 a term in this sequence? )
Give a reason for your answer.

.................................................................................................................................................................

(D
(Total for Question 13 is 3 marks)

N _/




14 Here are the first 5 terms of an arithmetic sequence.
-3 1 5 9 13
(a) Find an expression, in terms of #, for the nth term of this sequence.
/2 /1§ 20

8

O

The nth term of a different arithmetic sequence is 2n — 3

(b) Is 101 a term in this sequence?
Show how you get your answer.

In — 3 = 1ol
an =108

i ~ 52
L/FJ s 5y Feras (2) .......
/ | ' " (Total for Question 14 is 4 marks)

15 Here are the first 5 terms of a sequence.
9 14 19 24 29
Find an expression, in terms of #, for the nth term of this sequence.
' 5
o 2
L 5 /) /5 2
Ln +¢
(Total for Question 15 is 2 marks)
16 Here are the first 5 terms of a sequence.
25 22 19 16 13
Find an expression, in terms of #, for the nth term of this sequence.
— —/
-3 — 4 - 7 2 >

-------------------------------------------------

(Total for Question 16 is 2 marks)

J




17 Here are the first four terms of an arithmetic sequence.
4 11 18 25
Write down an expression, in terms of #, for the nth term of the sequence.
T 7 1Y 2] 2 8
...... L I
(Total for Question 17 is 2 marks)
18 Here are the first four terms of an arithmetic sequence.
35 31 27 23
Write down an expression, in terms of n, for the nth term of the sequence.
—n -y 9 — /2 — /¢
Tgn 3.0
(Total for Question 18 is 2 marks)
19 Here are the first five terms of an arithmetic sequence.
21 27 33 39 45
Write down an expression, in terms of n, for the nth term of the sequence.
Ly ¢ /2 /¢ 2y S ?
e -
(Total for Question 19 is 2 marks)
20 Here are the first five terms of an arithmetic sequence.
2 7 12 17 22
Write down an expression, in terms of #, for the nth term of the sequence.
Ln 5 /D } & 20 2 5
=2 eSS
(Total for Question 20 is 2 marks)

_/
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1 Change 2580 grams to kilograms.

[ )

Change 1.6 kilometres to metres.

.......................................................

(Total for question 2 is 1 mark)

9]

Change 48 cm to mm.

...................................................... mm
(Total for question 3 is 1 mark)

4 Change 520 millilitres to litres

.................. 052— litres

(Total for question 4 is 1 mark)

W

Change 0.87 kilograms to grams.

...................................................... . grams
(Total for question 5 is 1 mark)

=2

Change 640 cm to metres.

6% .................. metres

(Total for question 6 is 1 mark)

_ Y




7 Change 25 metres to cm.

.......................................................

(Total for question 7 is 1 mark)

8  Change 800 metres to kilometres.

(Total for question 8 is 1 mark)

9  Change 75 mm to cm.

(Total for question 9 is 1 mark)

10  Change 2.5 litres to millilitres

....................................................... millilitres

(Total for question 10 is 1 mark)

1 Change 920 millilitres to litres

O. C? 2 . litres
(Total for question 11 is 1 mark)

12 Change 75 kilograms to grams.

(Total for question 12 is 1 mark)

/
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You can use this graph to change between inches and centimetres.

A
30 T

24

N\

20

N

16

N

12

N\

N

NG

-

A\

N,

inches

(a) Change 3 inches to cm.

‘ ‘ M
(b) Change 50 cm to inches [ 7l -7 éj

10 cm = 8 [nches
/0 ecm 2 & inche )
50 Cim- = 20 /‘ nch e s l

................ 0 weeveer.. Inches
2)
(Total for question 13 is 3 marks)

/




